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QUESTION 1

Which of the following is TRUE about indexes on column organized tables?

A. No indexes are allowed

B. Indexes are only allowed on numeric columns

C. Indexes are automatically created to enforce unique constraints

D. An index is only allowed on the synopsis table supporting a column organized table

Correct Answer: A

QUESTION 2

Which of the following DB2 objects in an efficient way of representing data without the need to maintain it and requires
no permanent storage?

A. View

B. Alias

C. Table
D. Schema

Correct Answer: A

QUESTION 3
Which of the following is TRUE about a COMMIT statement executed at the end of the T1 unit of work?
A. A ROLLBACK command executed just after the COMMIT command cancels that COMMIT.

B. Save points defined during transaction T1 are released only if there is a RELEASE SAVEPOINT command executed
after the COMMIT command.

C. It finishes the current T1 unit of work and a new one is initiated, however it is possible to ROLLBACK to the latest
SAVEPOINT before COMMIT.

D. It finishes the current T1 unit of work and a new one is initiated. All changes made by UPDATE and DELETE
commands during unit of work T1 are committed.

Correct Answer: D

QUESTION 4
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Which of the following is designed for continuous availability, increased throughput of many concurrent short queries,
and easy scalability?

A. DB2 HADR

B. DB2 pureScale

C. DB2 Express-C

D. DS2 Database Partitioning Feature

Correct Answer: B

QUESTION 5

If you are already connected to a database, what does running the following statement do? Db2 CONNECT
A. Prompts you for the database name or alias

B. Returns information about the current server

C. Prompts you for the authentication information

D. Returns an error, because you provided no database or alias

Correct Answer: B
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